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Primary Division: Problems I

P1.1. A lottery win is shared between three people.  Allan gets 20 percent more than Jane, and 25 percent
more than Charlie.  Jane’s share is £3,600. How much money does Charlie receive?

P1.2. You are in a party crossing the desert. The party has the following containers

• one 8 litre container which is full of water,
• one 5 litre container which is empty,
• one 3 litre container which is empty.

There are no other containers available. 
It has been decided that the party should split up to follow two different routes, each group taking 4
litres of water.  Is it possible to give each group 4 litres of water to continue their journey? 
Explain your answer.
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In each region of the triangle shown there is a whole number, three of which are given.
Each number is the sum of the two numbers immediately below it and all numbers are different.
Find out which number must be in the region marked with the star and explain why.

END OF PROBLEM SET I


